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    Use product rule and simplify. Write your answers in positive exponents.  

 

 

1)     6�� · �� · 4��� 

 

 

       

 

 

2)     5	
 · 
� · 	� 

 

 

       

 

 

3)     �9����4����3��� 

 

 

       

 

 

4)     4��� · �� · 9��� 

 

 

       

 

 

5)     �5�����2���7���� 

 

 

       

 

 

6)     2��� · 7�� · 4�� 

 

 

       

 

 

7)     �7��ℎ��3�ℎ�� 

 

 

       

 

 

8)     8�� · 7��� 

 

 

       

 

 

9)     3�!� · !" · 2"�� 

 

 

       

 

 

10)     2#$% · 4#��$ · 5#�� 

 

 

       

 

 

11)     �9	��
��4	��3	
��� 

 

 

       

 

 

12)     7��� · 4��� 

 

 

       

 

 

13)     �6!�"��2!"%� 

 

 

       

 

 

14)     2��� · 5��&  

 

 

       

 

 

15)     4	
� · 
�� · 7�' 

 

 

       

 

 

16)     7�� · 3�� · 6��� 

 

 

       

 

 

17)     8
� · �! · 
!� 

 

 

       

 

 

18)     �6� ��2����4 �� 

 

 

       

     

Product Rule 
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    Answers  

 

 

1)     6�� · �� · 4��� 

								=
*+,*

-.
	 

 

 

2)     5	
 · 
� · 	� 

								= /0*1*2* 

 

 

 

3)     �9����4����3��� 

								= 3456.7. 

 

       

 

 

4)     4��� · �� · 9��� 

								= .89*:/ 

 

 

 

5)     �5�����2���7���� 

								= ;4<.=+ 

 

 

 

6)     2��� · 7�� · 4�� 

								= /8>*?*6. 

 

 

 

7)     �7��ℎ��3�ℎ�� 

								= *3@.A. 

 

 

 

8)     8�� · 7��� 

								= /8,*-.B 

 

 

 

9)     3�!� · !" · 2"�� 

								=
82C/

D.
	 

 

 

10)     2#$% · 4#��$ · 5#�� 

								=
+4E;

F3*
 

 

 

11)     �9	��
��4	��3	
��� 

								=
345

0*1+
 

 

 

12)     7��� · 4��� 

 

								= *59:*<. 

 

 

 

13)     �6!�"��2!"%� 

 

								= 3*C/D; 

 

 

14)     2��� · 5��&  

 

								= 34,*-;B* 

 

 

15)     4	
� · 
�� · 7�' 

 

								= *501G25 

 

 

16)     7�� · 3�� · 6��� 

								=
3*8:*

<*
 

 

 

17)     8
� · �! · 
!� 

 

								= 51*2*CG 

 

 

18)     �6� ��2����4 �� 

 

								= +5-.B. 

 


